Math3280 exam 1 Name Score

1. Identify the type and obtain the solutions of the following first order equations:
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2. Suppose the death rate of a population P(t) at time ¢ is 3P(¢) and the birth rate is 2P(t).
It is known that the initial population is 100. Set up a DE and solve it for P(t).
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4. Solve yy" = 3(y')%.
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5. Given a DE xd—y —42%y + 2ylny = 0. Use subtitution v = Iny. Convert the equation to a
x
new DE of v.
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6. The acceleration dv/dt of a Lamborghini is proportional to the differece between 250 km/h
and the velocity v of the car. Set a DE for velocity v. DO NOT SOLVE !!!
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